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Math 2170, Exam IIa, Spring 2006

1. Find the volume of the solid of revolution bounded by the graphs of 
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, x = 0 revolved around the x-axis.
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2. Find the volume of the solid of revolution bounded by the graphs of 
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, y = 0, x = 1 and x = 3, revolved around the y-axis using the disk or the washer method.
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we have to separate this into two pieces
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3. Find the volume of the solid of revolution bounded by the graphs of 
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, y = 0, x = 1 and x = 3, revolved around the y-axis using the shell method.
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4. Find the arc length of the graph 
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 on the interval [0, 9].
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5. Find the area of the surface of revolution generated by 
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 on the interval [0, 3] revolved around the y-axis.
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6. A force of 600 newtons stretches a spring 50 centimeters on a mechanical device for driving fence posts.  Find the work done in compressing the spring an additional 20 centimeters. (Hooke’s Law: F = kd)

k=12
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Bonus:

Find the volume of a pyramid with a square base 10 feet by 10 feet, and with a height of 20 feet.


[image: image18.wmf](

)

(

)

(

)

ò

»

-

=

-

=

¢

=

-

=

¢

Þ

-

=

¢

20

0

2

2

2

2

2

67

.

666

20

400

100

20

20

10

)

(

dy

y

V

y

b

y

A

y

h

h

b

b

h

y

h

b

b


_1203435445.unknown

_1203435928.unknown

_1203436033.unknown

_1203436177.unknown

_1203436329.unknown

_1203435962.unknown

_1203435682.unknown

_1203435816.unknown

_1203435506.unknown

_1201530516.unknown

_1201531167.unknown

_1201531571.unknown

_1203435288.unknown

_1201530617.unknown

_1201528562.unknown

